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There are two tests one needs to pass in order to get a driver’s license: a written test and the driving test. The probability of passing the written test is .9 whereas the probability of passing the driving test is .6.
1.  P(failing written test) = 1 − 0.9 = 0.1

P(failing driving test) = 1 − 0.6 = 0.4
2.  P(passing written and passing driving) = 0.9 × 0.6 = 0.54
3.  P(passing written and failing driving) = 0.9 × 0.4 = 0.36
4.  A person is not allowed to take the driving test until s/he has passed the written test. What is the probability that a person failed the written test, then passed it, and then passed the driving test?

0.1 × 0.9 × 0.6 = 0.054
5.  What is the probability that a person failed the driving test twice, given s/he passed the written test?

0.4 × 0.4 = 0.16
